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Problem Set 4 is due at the start of section on October 14.

1. Calculate the level of ethnolinguistic fractionalization in a country with 4 equally-sized ethnic
(or ethnolinguistic) groups.

2. You and the other 7 members of your immediate family operate a small farm growing rice
which you sell to earn your income. You have a fixed amount of land: only one hectare (just
under 2.5 acres). When one family member works the farm on his or her own, the farm
produces 16 shekels worth of rice. Adding a second family member working on the farm
increases total rice output by 8 shekels, a third increases output by 4 shekels, a fourth by 2
shekels, and so on. To state this slightly more formally, the marginal product of the labor of
the nth family member working on the farm is always half a large as the marginal product of
the labor of the (n− 1)th family member.

(a) Given this setup, what will total farm output be if 5 family members work on the farm?

(b) Your family wants to maximize your income, which is equivalent to maximizing the
value of total rice output from your farm because no other jobs are available in your
village. After the harvest, you will divide this income between you equally. Given this,
how many family members will work on the farm, and how much income will each of
you receive?

(c) A factory opens in your village; it begins hiring workers at a wage of 3 shekels per day.
Now everyone in your family can choose between working on the farm or working on
the factory. You are a family, so you still plan to pool all of your income and divide it
equally. If you wish to maximize your family’s income, how many family members will
work on the farm and how many will work in the factory? How does your family’s total
income compare to what it was before the opening of the factory?

(d) In 3 or 4 sentences, discuss the relationship between this example and the concept of
disguised unemployment that we discussed in class.

3. In the country of Domaritania, the relationship between physical capital in year t and output
in year t is characterized by the equation:

Yt = 2Kt (1)

The citizens of Domaritania consume 95 percent of their output and invest the rest. Capital
depreciates at a rate of 8 percent per year.
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(a) Use the Harrod-Domar model to calculate Domaritania’s growth rate in the absence of
foreign aid.

(b) If Domaritania wishes to achieve a rate of GDP growth of 6 percent pre year, how large
is the financing gap?

4. Answer the following questions based on the table below (which is taken from the paper
“Colonialism and Modern Income: Islands as Natural Experiments” by James Feyrer and
Bruce Sacerdote).

(a) How many different regressions are included in the table?

(b) What is the equation describing the regression reported in Column 1?

(c) Based on the results reported in Column 1, what is the predicted level of log GDP per
capita for a country that spent 0 years as a colony?

(d) Based on the results reported in Column 1, what is the predicted level of log GDP per
capita for a country that spent 100 years as a colony?

(e) In the regression presented in Column 4, which independent variables are statistically
significant?

(f) Based on the results reported in Column 8, what is the predicted infant mortality rate
in a country that spent 200 years as a colony, has an absolute latitude of 10 degrees,
has an area of 1 million square km, and is located in the Pacific Ocean.
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